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ENGINEERING MECHANICALS |

Paper : CE-204

Time Allowed : Three Hours
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Note : All questions are compulsory.

Ql

Internal choice are mainteand with questions.

Fill correct word— 2 each
(a) 'If resultant is zero, the particle saidtobein ......... |
' (Couple/Moment/ Resultant)

(b) The sense of friction is always.......... to the sense
of companding motion. (Same / Opposite)

(c) If m+3>2j it means that thé truss contains
more member than required to be just rigid and
o e

(Over rigid / Under rigid / perfect)
Where m = No. of members
j = No. of joints
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A0
QV (a) Whatis D-Alembert's principle.

2

(b) Two blocks of masses 10 Kg and 5 Kg are
connected by a erxubIe but in extenssble string
as shown in figure. Assume 1 =0.25. Find the

acceleratlon of the masses and tension in the

sting. _ 8
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What is impact and nature of impact and also define
the term coefficient of restitution and also draw graph

between force Vs time for impact.

-flexure. 9
Q.vI What is point of contra
Eb; Draw ch shear force and bending moment

diagram.
2 KN/m
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